
Two-Step Problems

1. Asif has £20. He buys two tennis balls from the sports shop and gets £16 change.

How much does each ball cost?

How many balls can Asif buy with £10?

2. Millie has £25 to spend in the toy shop. 

She buys two toys and gets £3 change. Which two toys does she buy? 

How much more money does she need to buy the car? 

3. Jack has a £1 coin to spend at the shop. Is he correct? Explain your answer. 

If I buy two lots of fruit from the shop 
with my £1 coin, the shopkeeper will 

give me 6p change.

£20

£16
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